
SATISH CHANDRA MEMORIAL SCHOOL 

MID-TERM MODEL QUESTION PAPER-2019 

CLASS-VII 

MATHEMATICS 

1. Find the terms and factors of 4x2y – 9xy + 7xy2. 

2. If p = 3, find the value of 3p3 – 2p – 10.               (Ans : 65) 

3. Add : 5a2b – 3b , 9ab – 8b + 5ab2 , 4a2b + 6b – 3ab2.       (Ans : 9a2b + 9ab + 2ab2 – 5b) 

4. If A = 3x2 – 4x + 1 , B = 5x2 + 3x – 8 and C = 4x2 – 7x + 3 find 2A + C – 3B.    (Ans : 29 – 24x – 5x2) 

5. Construct the expression :  

    Rohan’s mother gave him Rs. 3x2y and his father gave him Rs. (5x2y + 2). Out of this total money he  

    spent Rs. (10 – 3x2y) . How much money is left with him ? 

6. Write the coefficient of x2 in x3 – x2 + 5x + 7. 

7. How many lines of symmetry in a regular octagon ? 

8. Name the five letter of English alphabet which has no line of symmetry . 

9. Draw all lines of symmetry for each of the following : 

                 a.             b.   

10. State the order and angle of rotational symmetry of the following figure : 

            

11. Check whether the given value is the solution of the equation or not . 

           8x + 5 = 29 ; (x = 3)         

12. Solve :  (3x + 5) – (6x – 9 ) = 2x + 8     (Ans : x= 
6

5
 ) 



 

13. Construct the equation and solve : 

     The sum of three consecutive multiples of 9 is 81 . Find the smallest number .   (Ans : 18) 

14. Construct the equation and solve : 

  The difference between two numbers is 44. The ratio of these numbers is 3 : 5. Find the smaller number. 

                                                                                                                                                     (Ans : 66) 

15. Construct the equation and solve : 

    Two complementary angles differ by 20 degree . Find the angles.    (Ans : 35°, 55°) 

16. Construct the equation and solve : 

    A girl is 28 years younger to her father. The sum of their ages is 50 years. Find their ages. 

                                                                                                                                                   (Ans : 39 years, 11 years) 

17. Write ‘true’ or ‘false’ : p = 3, is a root of the equation 4p – 3 = 13 

18. Simplify :  
1

9
 of 

1

6
 of 

1

3
 of 56052    (Ans : 346) 

19. Find the product of : 9
2

3
 × 1 

1

29
 × 

6

15
 × 7 

1

5
     (Ans : 

144

5
 ) 

20. Simplify : 36( 
7

9
 ) – [ 12( 

4

5
 ) + 11( 

1

3
 ) ]    (Ans : 

221

15
 ) 

21. The area of rectangle is 30 cm2. If one of the sides is 6
3

4
 cm, find the other.  (Ans : 4

4

9
  cm) 

22. A boy spends 
3

4
 of his pocket money and then 

4

5
 of the remainder is given to his sister. If he has Rs. 40  

      left, what did he have at first ?    (Ans : Rs. 800) 

23. Simplify : 0.08056 + 0.1073 – 0.02456 + 0.0345    (Ans : 0.1978) 

24. Multiply : 679.78 × 1000 

25. Calculate : 
2.97

6
 (upto 3 decimal points)  (Ans : 0.495) 

26. A book case is 2.38 m tall and the height of each shelf is 34 cm. How many shelves are there ?  (Ans : 7) 

27. Are the following sides can be the sides of the right triangle ? 

      5 cm , 6 cm , 7 cm                     (Ans : No) 

 



28. Calculate x.          

               (Ans : 18) 

29.         

          

    Find the perimeter of hexagonal.    (Ans : 72 m) 

30.  

       

    Find (a) BD    (b) x     (Ans : a. 20    b. 10√5) 

31. A ship leaves a port and travels 12 km due east. Then it turns and travels 9 km due north. How far is 

      the ship from the port.    (Ans : 15 km) 

32. Find the perimeter of a rectangle whose one side measures 20 m and diagonal is 29 m.  (Ans : 82 m) 

 

 

 

 



 

33.  

     

    DE || BC 

   If ∠𝐵  = 30° and ∠A = 40° , find x , y , z     (Ans : x = 30° , y = z = 110°) 

34. Find x : 

                     (Ans : x = 15°) 

35. The vertical angle of an isosceles triangle measure (5t – 18) and one of the base angle measures 3t. 

      Find the value of t.                                                         (Ans : t= 18°) 

36. Using properties of integers, find the value of -295 × -63 + (-295) × 33.           (Ans : 8850) 

37. Write two integers which are greater than -10 but their sum is smaller than -10. 

 

 

 



38. Find x : 

                (Ans : 43°) 

39.  

          

DE || AB  , find a , b , c               (Ans : a= 40° , b = 55° , c = 85°)  

40. If 27(2x – 1) = 2433, then find the value of x.     (Ans : x =3) 
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पाठ - 4 कठपुतऱी 
1. कठऩुतऱी कैसे बोऱी ?  
E0-कठऩुतऱी गुस्से से बोऱी । 



2. कठऩुतऱी गुस्से से क्या बोऱी ? 
E0-कठऩुतऱी गुस्से से बोऱी - ये धागे क्यों हैं मेरे ऩीछे-आगे ? 
3. यह कविता ककस विषय ऩर आधाररत है? 
E0- यह कविता आज़ादी चाहने िाऱी कठऩुतलऱयों ऩर आधाररत है । 
4. कविता में कठऩुतऱी ने क्या तोड़न ेकी बात कही है ?  
E0-कठऩुतऱी न ेखदु से ऱटकते धागों को तोड़न ेकी बात कही है । 
 
पाठ - 6 रक्त और हमारा शरीर 
5. ददव्या कौन थी ? उसे क्या-क्या ऩरेशानी हो रही थी ? 
E0- ददव्या अननऱ की छोटी बहन थी । उस ेहर समय थकान महसूस होती । मन ककसी काम में नहीॊ 
ऱगता, भूख भी ऩहऱे से कम हो गई थी । 
6. रक्त  के कण कहाॉ बनत ेहैं ?  
E0- रक्त  के कण हड्डडयों के बीच के भाग मज्जा में बनते हैं ।  
7. ’िीर लसऩाही’ ककसे कहा गया है ?  
E0- सफ़ेद कणों को ’िीर लसऩाही’ कहा गया है | 
8. स्िस्थ व्यक्क्त कब रक्तदान  कर सकते हैं ? 
E0- स्िस्थ व्यक्क्त रक्तदान  अट्ठारह िषष से अधधक उम्र में कर सकते हैं ।  
 

mÉÉPû - 9 ÍcÉÌÄQûrÉÉ MüÐ oÉŠÏ 

9 . qÉÉkÉuÉSÉxÉ MüWûÉð oÉæPûiÉå jÉå ?  

E0- qÉÉkÉuÉSÉxÉ zÉÉqÉ MüÉå MüÉåPûÏ Måü oÉÉWûU cÉoÉÔiÉUå mÉU iÉZiÉ QûsÉuÉÉMüU qÉxÉlÉS Måü xÉWûÉUå aÉsÉÏcÉå mÉU oÉæPûiÉå jÉå | 

10. "ÇqÉæÇ jÉMüMüU uÉWûÉð oÉæPû aÉD jÉÏ|" rÉWû MüjÉlÉ ÌMüxÉlÉå iÉjÉÉ ÌMüxÉxÉå MüWûÉ ?  

E0 - rÉWû MüjÉlÉ ÍcÉÌÄQûrÉÉ lÉå qÉÉkÉuÉSÉxÉ xÉå MüWûÉ |  

11. qÉÉkÉuÉSÉxÉ lÉå ÍcÉÌÄQûrÉÉ MüÉå SåZÉMüU YrÉÉ MüWûÉ ?  

E0- qÉÉkÉuÉSÉxÉ lÉå MüWûÉ, "qÉåUÏ pÉÉåsÉÏ ÍcÉÌÄQûrÉÉ, iÉÑqWåÇû SåZÉMüU qÉåUÉ qÉlÉ ZÉÑzÉ WûÉå aÉrÉÉ |" 

12. ÍcÉÌÄQûrÉÉ lÉå YrÉÉ MüWûÉ ?  

E0- ÍcÉÌÄQûrÉÉ lÉå MüWûÉ , "qÉæÇ pÉOûMüMüU iÉÌlÉMü AÉUÉqÉ MüUlÉå Måü ÍsÉL CxÉ QûÉsÉÏ mÉU ÂMü aÉD jÉÏ |" 

  

 
पाठ - 10 अपूर्व अनुभर् 
13. तोत्तो-चान का ऩेड़ कहाॉ क्स्थत था ? 
E0- तोत्तो-चान का ऩेड़ मैदान के बाहरी दहस्से में कुहोन्बुत्सु जानेिाऱी सड़क के ऩास था । 
14. यासुकी-चान को क्या हुआ था?  
E0- यासुकी-चान को ऩोलऱयो हुआ था ।  



15. तोत्तो-चान सीढ़ी घसीटकर क्यों ऱाई ?  
E0- यासुकी-चान को अऩने ऩेड़ ऩर चढ़ाने के लऱए तोत्तो-चान ने चौकीदार के छप्ऩर के ऩास से एक सीढ़ी 
घसीटकर ऱाई । 
16. ककसकी बहन अमरीका में रहती थी ?  
E0- यासुकी-चान की बहन अमरीका में रहती थी ।  
 

mÉÉPû - 11 UWûÏqÉ Måü SÉåWåû 

17. xÉŠÉ ÍqÉ§É MüÉælÉ WûÉåiÉÉ Wæû ?  

E0 - eÉÉå AmÉlÉå ÍqÉ§É MüÉ xÉÉjÉ SåiÉÉ Wæû , uÉWûÏ xÉŠÉ ÍqÉ§É WûÉåiÉÉ Wæû |  

18. qÉNûsÉÏ MüÉå ÌMüxÉxÉå mÉëåqÉ WûÉåiÉÉ Wæû ?  

E0- qÉNûsÉÏ MüÉå mÉÉlÉÏ xÉå mÉëåqÉ WûÉåiÉÉ Wæû | uÉWû ExÉxÉå ÌoÉNûÄQûMüU AmÉlÉå mÉëÉhÉ Så SåiÉÏ Wæû |  

19. xÉUÉåuÉU AmÉlÉÉ YrÉÉ AÉæU YrÉÉåÇ lÉWûÏÇ mÉÏiÉå WæÇû ?  

E0 - xÉUÉåuÉU AmÉlÉÉ eÉsÉ lÉWûÏÇ mÉÏiÉå YrÉÉåÇÌMü uÉå SÕxÉUÉåÇ MüÐ mrÉÉxÉ oÉÑfÉÉiÉå WæÇû |  

20. qÉÉlÉuÉ SåWû MüÉå YrÉÉ xÉWûlÉÉ mÉÄQûiÉÉ Wæû ?  

E0 - qÉÉlÉuÉ SåWû MüÉå WûU mÉëMüÉU Måü qÉÉæxÉqÉ MüÉå xÉWûlÉÉ mÉÄQûiÉÉ Wæû |  

  

  

व्याकरण 
mÉÉPû - xÉqÉÉxÉ 

21. xÉqÉÉxÉ ÌMüxÉå MüWûiÉå WæÇû ? ESÉWûUhÉ SÉå |  

E0 - AlÉåMü zÉoSÉåÇ MüÉå xÉÇÍ¤ÉmiÉ MüUMåü lÉL zÉoS oÉlÉÉlÉå MüÐ mÉëÌ¢ürÉÉ xÉqÉÉxÉ MüWûsÉÉiÉÏ Wæû |  

22. ÌlÉqlÉÍsÉÎZÉiÉ uÉÉYrÉÉåÇ qÉåÇ UåZÉÉÇÌMüiÉ xÉqÉÉxÉ-ÌuÉaÉëWûÉåÇ Måü xÉqÉxiÉ mÉS oÉlÉÉAÉå :-  

E0 -  Mü) xÉUMüÉU lÉå AMüÉsÉ xÉå mÉÏÌÄQûiÉ sÉÉåaÉÉåÇ MüÐ qÉSS MüÐ |    E0 - AMüÉsÉmÉÏÌÄQûiÉ 

 ZÉ) xÉÇeÉrÉ lÉå AmÉlÉå mÉU oÉÏiÉÏ MüWûÉlÉÏ xÉÑlÉÉD |            E0 - AÉmÉoÉÏiÉÏ 

23. SèuÉÇSèuÉ xÉqÉÉxÉ ÌMüxÉ MüWûiÉå WæÇû ? ESÉWûUhÉ SÉå |  

E0 - CxÉ xÉqÉÉxÉ Måü SÉålÉÉåÇ mÉS mÉëkÉÉlÉ WûÉåiÉå WæÇû | CxÉMåü SÉålÉÉåÇ mÉS rÉÉåeÉMü-ÍcÉ»ûÉåÇ ²ÉUÉ eÉÑÄQåû WûÉåiÉå WæÇû |  

      ESÉWûUhÉ : xÉÑZÉ-SÒZÉ = xÉÑZÉ rÉÉ SÒZÉ |  

  

mÉÉPû - EmÉxÉaÉï , mÉëirÉrÉ  

24. ÌlÉqlÉÍsÉÎZÉiÉ ESÕï Måü EmÉxÉaÉï xÉå EmÉxÉaÉï AÉæU qÉÔsÉ zÉoS AsÉaÉ MüÐÎeÉL :-  

  zÉoS  EmÉxÉaÉï   qÉÔsÉ zÉoS 

E0 -   Mü) oÉåaÉÑlÉÉWû oÉå   aÉÑlÉÉWû 

  ZÉ) MüqÉÄeÉÉåU MüqÉ   ÄeÉÉåU 

25. ÌlÉqlÉÍsÉÎZÉiÉ xÉÇxM×üiÉ Måü AurÉrÉ xÉå EmÉxÉaÉï AÉæU qÉÔsÉ zÉoS AsÉaÉ MüÐÎeÉL :-  

  zÉoS  EmÉxÉaÉï   qÉÔsÉ zÉoS 

E0 -   Mü) AkÉÉåaÉÌiÉ AkÉ:    aÉÌiÉ 

  ZÉ) AÇiÉqÉïlÉ AÇiÉUç   qÉlÉ 



26. ÌlÉqlÉÍsÉÎZÉiÉ mÉëirÉrÉ zÉoSÉåÇ xÉå qÉÔsÉ zÉoS AÉæU mÉëirÉrÉ AsÉaÉ MüÐÎeÉL :-  

  zÉoS  qÉÔsÉ zÉoS  mÉëirÉrÉ 

E0 -   Mü) mÉÉsÉlÉWûÉU mÉÉsÉlÉ   WûÉU 

  ZÉ) ÍqÉsÉÉuÉOû ÍqÉsÉ   AÉuÉOû 

27. ÌlÉqlÉÍsÉÎZÉiÉ mÉëirÉrÉ zÉoSÉåÇ xÉå SÉå-SÉå zÉoS oÉlÉÉAÉå :-  

E0 -  Mü) AÉuÉ - oÉWûÉuÉ , ÎZÉÇcÉÉuÉ 

 ZÉ) MüU - xÉÑlÉMüU , SåZÉMüU 

  

mÉÉPû - AlÉåMüÉjÉïMü zÉoS , uÉÉYrÉÉÇzÉoÉÉåkÉMü zÉoS 

28. ÌlÉqlÉÍsÉÎZÉiÉ zÉoSÉåÇ Måü AlÉåMüÉjÉïMü zÉoS ÍsÉÎZÉL :-  

E0 -  Mü) AÇoÉU - AÉMüÉzÉ , MåüxÉU , MümÉÉxÉ 

 ZÉ) A¤É - AÉÆZÉ , xÉmÉï , mÉÌWûrÉÉ 

29. AlÉåMüÉjÉïMü zÉoSÉåÇ xÉå SÉå AsÉaÉ-AsÉaÉ uÉÉYrÉ oÉlÉÉAÉå:- 

E0 -  AjÉï - qÉæÇ sÉÉæWûmÉjÉaÉÉÍqÉlÉÏ MüÉ AjÉï lÉWûÏ eÉÉlÉiÉÉ | 

 AjÉï - WûqÉÉUå SåzÉ MüÐ AjÉï-urÉuÉxjÉÉ xÉÑkÉU UWûÏ Wæû |  

30. ÌlÉqlÉÍsÉÎZÉiÉ uÉÉYrÉÉÇzÉ Måü ÍsÉL LMü zÉoS ÍsÉÎZÉL :-  

E0 -  Mü) ÎeÉxÉMüÉ AÉÌS lÉ WûÉå - AlÉÉÌS 

 ZÉ) eÉWûÉð mÉWÒðûcÉÉ lÉ eÉÉ xÉMåü - AaÉqÉ 

  

mÉÉPû - xÉÇoÉÇkÉoÉÉåkÉMü zÉoS 

31. EÍcÉiÉ xÉÇoÉÇkÉoÉÉåkÉMü zÉoSÉåÇ xÉå ZÉÉsÉÏ xjÉÉlÉ pÉUÉå :-  

E0 -  Mü) bÉU ........... qÉåWûqÉÉlÉ oÉæPåû WæÇû |    E0 - Måü AÇSU 

 ZÉ) NûiÉ ........... MümÉÄQåû xÉÑZÉ UWåû WæÇû |   E0 - Måü FmÉU 

32. xÉqÉiÉÉuÉÉcÉMü xÉÇoÉÇkÉoÉÉåkÉMü Måü ESÉWûUhÉ SÏÎeÉL :- 

E0- xÉqÉiÉÉuÉÉcÉMü Måü ESÉWûUhÉ - MüÐ pÉÉðÌiÉ , Måü oÉUÉoÉU AÉÌS |  

  

mÉÉPû - Ì¢ürÉÉÌuÉzÉåwÉhÉ 

33. Ì¢ürÉÉÌuÉzÉåwÉhÉ ÌMüxÉå MüWûiÉå WæÇû ? ESÉWûUhÉ SÉå |  

E0- Ì¢ürÉÉ MüÐ ÌuÉzÉåwÉiÉÉ oÉiÉÉlÉå uÉÉsÉå zÉoS Ì¢ürÉÉÌuÉzÉåwÉhÉ MüWûiÉå WæÇû |   ESÉWûUhÉ - xÉÑlÉÏsÉ mÉëÌiÉÌSlÉ ZÉåsÉlÉå eÉÉiÉÉ Wæû |  

34. EÍcÉiÉ Ì¢ürÉÉÌuÉzÉåwÉhÉ zÉoSÉåÇ xÉå ZÉÉsÉÏ xjÉÉlÉ pÉUÉå :-  

E0 -  Mü) UÏlÉÉ ............ ZÉåsÉ UWûÏ Wæû |    E0- oÉÉWûU 

 ZÉ) UqÉåzÉ oÉÉÄeÉÉU xÉå ............. sÉÉæOûÉ Wæû |   E0- ApÉÏ 

  

mÉÉPû - xÉÇÍkÉ , pÉÉwÉÉ ÌuÉcÉÉU  

35. xuÉU xÉÇÍkÉ ÌMüxÉå MüWûiÉå WæÇû ? ESÉWûUhÉ SÉå |  

E0- SÉå xuÉUÉåÇ Måü qÉåsÉ xÉå WûÉålÉå uÉÉsÉå mÉËUuÉiÉïlÉ MüÉå xuÉU xÉÇÍkÉ MüWûiÉå WæÇû | ESÉWûUhÉ - UåZÉÉ + AÇÌMüiÉ = UåZÉÉÇÌMüiÉ |  

36. qÉÉlÉMü pÉÉwÉÉ ÌMüxÉå MüWûiÉå WæÇû ?  

E0 - ÌuÉ²ÉlÉÉåÇ uÉ ÍzÉ¤ÉÉÌuÉSÉåÇ ²ÉUÉ pÉÉwÉÉ qÉåÇ LMüÃmÉiÉÉ sÉÉlÉå Måü ÍsÉL pÉÉwÉÉ Måü ÎeÉxÉ ÃmÉ MüÉå qÉÉlrÉiÉÉ SÏ eÉÉiÉÏ Wæû,  



       uÉWû qÉÉlÉMü pÉÉwÉÉ MüWûsÉÉiÉÏ Wæû |  

  

mÉÉPû - MüÉUMü , Ì¢ürÉÉ 

37. MüiÉÉï MüÉUMü ÌMüxÉå MüWûiÉå WæÇû ? ESÉWûUhÉ SÉå |  

E0- zÉoS Måü ÎeÉxÉ ÃmÉ xÉå Ì¢ürÉÉ Måü MüUlÉå uÉÉsÉå MüÉ oÉÉåkÉ WûÉå, ExÉå MüiÉÉï MüÉUMü MüWûiÉå WæÇû |  

      ESÉWûUhÉ - qÉÏlÉÉ xÉå AoÉ AÉæU lÉWûÏÇ cÉsÉÉ eÉÉiÉÉ |  

38. Ì¢ürÉÉ ÌMüxÉå MüWûiÉå WæÇû ? ESÉWûUhÉ SÉå |  

E0- ÎeÉlÉ zÉoSÉåÇ xÉå ÌMüxÉÏ MüÉrÉï Måü MüUlÉå rÉÉ WûÉålÉå MüÉ mÉiÉÉ cÉsÉå, ElWåÇû Ì¢ürÉÉ MüWûiÉå WæÇû | ESÉWûUhÉ - qÉÉsÉÏ lÉå mÉÉækÉÉåÇ MüÉå 

xÉÏÇcÉÉ |  

  

mÉÉPû - mÉrÉÉïrÉuÉÉcÉÏ zÉoS , ÌuÉsÉÉåqÉ zÉoS  

39. ÌlÉqlÉÍsÉÎZÉiÉ zÉoSÉåÇ Måü SÉå-SÉå mÉrÉÉïrÉuÉÉcÉÏ zÉoS ÍsÉÎZÉL :-  

E0-  Mü) mÉëÉjÉïlÉÉ - ÌuÉlÉiÉÏ , ÌlÉuÉåSlÉ 

 ZÉ) oÉÉhÉ - iÉÏU , zÉU 

40. ÌlÉqlÉÍsÉÎZÉiÉ zÉoSÉåÇ Måü ÌuÉsÉÉåqÉ zÉoS ÍsÉÎZÉL :-  

E0-  Mü) AÉrÉÉiÉ - ÌlÉrÉÉïiÉ 

 ZÉ) AÉSÉlÉ - mÉëSÉlÉ 

 aÉ) ÌlÉÇSÉ - xiÉÑÌiÉ 

 bÉ) iÉÏuÉëiÉU - qÉÇSiÉU 

  

  

             MODEL QUESTION  
                                      CLASS VII        MID TERM EXAM 

                                                 2019 -2020 

1. The term 'bandagan' used during the Sultanate period means –     Slaves  [1] 

2. Garrison town Siri was constructed by-    Alauddin Khilji.  [1] 

3. The highest zat rank during the Mughal period was of-     5000   [1] 

4. The term 'mansab' means... -     a position or rank  [1] 

5. If, a person is treated unequally, then it is the violation of his -   self-  respect   [1] 

6. Where is Samoa?-   Samoa is a group of islands in the southern part of the Pacific Ocean  [1] 
7. The division of powers between the Central and State government is known as- federalism. [1] 

8. The lithosphere is broken into a number of plates known as the-   tectonic plates. [1] 

9. Houses with slanting roofs are common in regions having-    heavy rainfall. [1] 

10. Thick mud walled houses with thatched roofs are very common in areas of -hot climate. [1] 

11. Name some of the international airports of India.   ans- Some of the major airports are: Mumbai, Kolkata, 

Delhi, Chennai and Thiruvananthapuram.[2] 



12. What are the four means of transportation?   Ans-roadways ,airways,railways,waterways [2] 

13. How are oxbow lakes formed?       Ans-Due to the continuous erosion and deposition along the slots of the 

meander, the ends of the meander loop come closer and closer. In due course of time the meander loop cuts 

off from the river and forms a cut- off lake also called an ox-bow lake.[2] 

14. On what basis did British historians divide the history of India into three periods?   Ans-On what basis did 

British historians divide the history of India into three periods? [2] 

15. What are 'Prashastis'?    Ans- Prashastis are the written records, prepared by learned Brahmans in the praise 

of their ruler or king. Learned Brahmans were those who helped in the administration, so prashastis may not 

be literally true.   [2] 

16. What made Rosa Parks famous in American political history?      ans-  Rosa Parks was an African- American 

woman. Her refusal to give her seat to a white in a public bus led to the start of a huge agitation against 

racial discrimination in the US. The agitation by African Americans came to be known as the Civil Rights 

Movement in the US.[2] 

17. What is the main activity of Samoa Island?     Ans-Fishing and planting cocounts are main activities of males. 

Females from younger age do fishing, plantation work and cooking food[2] 

18. What is a Legislative Assembly?     Ans-A legislative assembly is a place where all the MLA’s whether from 

the ruling party or from the opposition meet to discuss various things. It is just like the lower house of 

parliament where directly elected representative of people assemble and discuss issues.   [2] 

19. How do MLAs become Chief Ministers or ministers?      Ans  A political party whose MLAs have won more 

than half the number of constituencies in a state are said to be in majority. After the elections, the MLAs 

belonging to the ruling party elect their leader who becomes the chief minister. The chief minister then 

selects other people as ministers.   [2]    

20.  When was the construction of the Qutb Minar completed?      Ans-  Construction of the Qutb Minar, which 

was started by Qutbuddin Aybak, was completed around 1229 A.D.   [2] 

21. Why were temples attacked in medieval India?      Ans- Because kings built temples to demonstrate their 

devotion to God and their power and wealth, these buildings were often targeted during invasions of their 

kingdoms. In the political culture of the Middle Ages, most rulers displayed their political might and military 

success by attacking and looting the places of worship of defeated rulers .  [3] 

22. What was the Chahar Bagh form of architecture?      Ans- Chahar Bagh (Four Gardens) because of their 

symmetrical division into quarters, were formal gardens, which were placed within rectangular walled 

enclosures and divided into four quarters by artificial channels. This architectural form of laying out gardens 

was adapted by the Mughals in India.   [3] 

23. How do humans affect the environment?     Ans-Humans modify the natural environment for their benefit. 

Human beings make cars, mills, and factories and manufacture containers. The car fumes pollute the air, 

water is collected in a pot, food is served in vessels and land is used to build factories. They destroy the 

atmosphere and pollute the environment.[3] 

24. Why do monsoon forests give a barren look?        Ans-Monsoon forest of India is also called deciduous 

forest, which have same variety of species. All the trees have same time period for shedding their leaves. In a 

year during a particular time, the trees shed their leaves. So, the branches become bare and the forest looks 

barren.    [3] 



25. Why wildlife is less in the Mediterranean region?         Ans-The wildlife is less in the Mediterranean region 

because people have removed the natural vegetation in order to cultivate what they want to. So, as the 

natural    [ 3] 

26. What preparedness measures should be adopted during an earthquake?     Ans-  Safe Spot: Under a kitchen 

counter, table or desk, against an inside corner or wall. 

Stay Away from: Fire places, areas around chimneys, windows that shatters including mirrors and picture 

frames. 

Be Prepared: Spread awareness amongst your friends and family members and face any disaster confidently.  

[3] 

27. What led to the rise of coalition governments in India?      Ans-  The rise of coalition governments at the 

centre since 1990s is attributed to the emergence of multiparty system. As the number of political parties 

increased, the choices for voters also increased, thus dividing the votes amongst various parties. As a result, 

no single party is able to secure clear majority. A number of parties come together to form the government 

known as coalition government.[3] 

28. Why do political parties organize press conference?    Ans- Political parties organize press conferences to 

put forward their agenda and policies. Through such press conferences people learn about the party ideology 

and what it seeks to achieve once it comes to power. During elections, leaders organize press conferences to 

launch their party manifesto and communicate their future plans to the public. Newspapers and television 

channels report these to the people which help them to form opinion.  [3] 

29. Write a note on the efforts of Rashasundari Devi to educate herself.    Ans-Rashasundari Devi was a house 

wife from a rich land lord family. At that time it was believed that if a woman learnt to read and write, she 

would bring bad luck to her husband and become a widow. Despite this, she secretly learnt to read and write 

on her own after her marriage. When she was 60 year- old, she wrote her autobiography in Bangla, titled 

Amar Jiban.   [4] 

30. Why were women not allowed to read and write in earlier centuries?   Ans-People believed that education 

would expose women to liberal ideas of freedom and equality.They further thought that through literacy 

women would become independent and demand decision making powers in the family.This was seen as a 

threat to male dominance and traditional family structures where women were always subordinate to men.   

[4] 

31. Write a brief note on the administration of Delhi Sultanate provinces under the Tughlaqs and the Khaljis.  

Ans-The Khaljis and the Tughlaq monarchs appointed military commanders as governors of the territories of 

various sizes. These territories or land were called iqtas and their landholder was called iqtadars or muqtis. 

They provided military services to the Sultan of Delhi. In return, they could collect revenue from these lands 

and keep a part of it as their salary. They also paid their soldiers from these revenues. Accountants were 

appointed by the state to check the amount of revenue collected by the muqtis. Care was taken that muqtis 

collected only the taxes prescribed by the state and also maintained a required number of soldiers. The kings 

forced the samanta aristocrats to accept their authority.   [4] 

32. Describe the Rajput policy of Akbar? Ans-He was a far sighted ruler who knew that there could be no 

permanent Mughal rule in India without the support of the Rajputs.Akbar wanted to be friendly with these 

Rajputs states instead of subjugating. For this he adopted all possible measures like matrimonial alliances 

and assigning higher posts to Rajput chiefs.This made his position stronger and they became his loyal 

Comrades.   [4] 



33. Who was Humayun?      Ans- Humayun was the second Mughal Emperor of India. He ascended the throne in 

1530 AD. Humayun divided his inheritance according to the will of his father and equally distributed the 

province among his brothers. The ambitions of his brother Mirza Kamran weakened Humayun’s cause 

against Afghan competitors. He was defeated by ‘Shah Suri' at Chausa in AD 1529. and at Kanauj 

in  AD1540.which forced him to flee to Iran. He received help from the Safavid Shah to capture Delhi again in 

AD1555. He died in the same year.      [4] 

34. What are the differences between the compact settlement and scattered settlement? 

               Compact Settlement                Scattered Settlement 

1. Closely built area of dwellings  1. Dwellings are spaced over an extensive area 

   2. It is generally done on a flat land.  2. Mostly found in the hilly areas. 

    3. All the dwellings are at the same level.  3. The dwellings are at different levels. 

35. Write a note on the importance of airways.        Ans-  1)It is the fastest but expensive means of transport. 

2) The main advantage of this transport is its speed. 

3) It is the only mode of transport for remote and inaccessible areas 

4) Has great importance for the island countries and countries covering large territories. 

5) Most suitable during a natural disaster. 

36. How is the upper mantle different from the lower mantle? Ans- 

Upper mantle     Lower mantle 

1. It is about 670 km thick. 1. It is about 2,200 km thick. 

2. It has very high temperature. 2. The temperature is moderate. 

3. It begins at the depth of 50 km and 

extends upto the depth of 300 km. 

3. It begins at the depth of 700km and 

extends upto the depth of 2900km. 

4. The top layer is solid and lower layer is 

soft layer.  

4. It is composed of uniform hard rocks.  

37.    What do you understand by the statement “man modifies his environment”?   Ans-With the passage of 
time, our society has developed tremendously. Man’s needs and demands increased manifold. As a result he 
started modifying nature to his own requirement; agricultural land converted to commercial areas, 
residences and industries; roads became crowded with traffic; smoke from vehicles caused air pollution and 
the honking of the horns to noise pollution 

38. What lessons can be learnt from the case of Costa Rica?   Ans-Public sector is the predominant health care 
sector in Costa Rica. Costa Rica does not maintain an army, thus the funds saved from defence budget are 
allocated towards social programs, such as education and health. A primary contributor to Costa Rica’s 
success has been its focus on the well being of its people. India’ should also give top priority to health and 
education  

39.   LOCATE ON MAP OF AFRICA:   a.Madagascar   b.Mediterranean sea   c.Tropic of cancer d.Zaire     

e.Tanzania      f.South Aftica   

40. LOCATE ON MAP OF INDIA:   a. Ajmer  b. Delhi   c.Devagiri   d. Bengal    e.Cittor    f.Sind 
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                                  SECTION A 

1)Reading Comprehension (Unseen Passage) 

                                    SECTION B 

WRITING  

2)write a letter to your friend inviting him to spend the summer vacation with you at your place. 

Points: proper greetings – tell him/her why you want to spend your vacation with him/her – which things you have 

planned for his/her coming - convey regards. 

3) Use the following points to write a bio sketch about Mother Teresa. 

Points -* Born-- 27th August 1910 of Albanian Parents in Skopje  

*Real name--Agnes Gonxha Bojaxhiu. 

*1928--joined convent in Ireland,18years old. 

*1929-- sent to Darjeeling,India. 

*1931--Began teaching in Kolkata Girl's School. 

*1948--Left teaching to work among the poor in slums of Kolkata. 

*1950-1996 --worked for the downtrodden and sick destitute. 

*1979--Awarded Nobel Peace Prize. 

*Death-- 5th September 1997.  

4) You are Arpan Arora,the sports captain of Raipur Public School. Write a notice for the school notice board 

informing the students about the inter-school football match to be played. 

Value points - heading –date-relevant details-place-time 

5) You  are Gourab Mehta,member of NGO AWAAZ.Write a letter to the Editor of a national daily for a public 

movement to clean the Ganga river. 

Points – introduce yourself- describe how the people are blamed for polluting the river – suggest the need for 

installing water treatment plant to clean the river. 

6) You are Sidhi/Sanjay Roy of u-30 G Block Kasturi Nagar Mysore-37.Write a letter to the Editor, Times of India, 

Bangalore expressing your concern about the decrease in the number of the birds in Mysore.   

Points – introduce yourself- describe the reasons for which a huge number of birds are decreasing day by day – give 

your suggestions.   

7)You are Rohit. Today morning you received a call from Mr.Joseph, your fathers friend. Your father was on his 

morning walk. Mr.Joseph asked you to please convey your father that he was in fever. He is not in position to go to 

the office today .He has asked your father to inform the Managing Director about it.     

Points – Date,Time,message in brief,sender’s name.  

8) You are Ramesh.Today you had the following conversation with Rajesh,a friend of yourelder brother: 

Rajesh: Hello! Is it 99123509? 

Ramesh: Yes I am Ramesh. speaking What can I do for you? 

Rajesh: Well, Ramesh! I am Ramesh, you know your brother’s friend? 

Ramesh: Oh! I see.Well brother is not here now.So can I help you? 



Rajesh: Could you please convey him that he should bring my practical book todayb in school as I need it in class 

today. 

Ramesh: That’s fine. I will do that. 

As you are leaving for your school,write a message for your brother. put your message in a box.  

POINTS – Date,time,message in brief,sender’s name. 

9) Write a letter to the head of the institution asking his/her permission to remain absent from school for 3 days on 

account of your sister’s marriage. 

Points – introduce yourself – say the reason – ask permission – conclude 

GRAMMAR 

DO AS DIRECTED  

10) He said to me,’’ What are you doing?’’ (turn in to indirect speech) 

Ans – He asked me what I was doing. 

11)He said ,’’Let us wait for the award.’’ (turn into indirect speech) 

Ans – He proposed that they should wait for the award. 

12)The mason is building the wall. (change the voice) 

Ans – The wall is being built by the mason. 

13)Who did this? ( change the voice) 

Ans – By whom was this done? 

14)The peon opened the gate. (change the voice) 

Ans – the gate was opened by the peon. 

15)We missed the last bus.We had to walk home. (join the sentence by using ‘so’) 

Ans – We missed the last bus so we had to walk home. 

16)She did not come to school. She was ill.(use because to join the sentence) 

Ans – She did not come to school because she was ill. 

17)Listen carefully and take notes.(identify the sentence according to its structure) 

Ans – Compound sentence 

18)His courage won him honour.(identify the sentence according to its structure) 

Ans – Simple sentence 

19)Turn of the computer. (phrase/clause) 

Ans  - Clause. 

20) A red beautiful rose.(phrase/clause) 

Ans – phrase. 

21)I ------- (see/saw)him yesterday.(choose the correct form of the verb) 

Ans – saw 

22)The child -------(is sleeping/sleeps)on the bed.(choose the correct form of the verb 

Ans- is sleeping. 

23) Scold (write the synonym) 

24)Arrival (write the antonym) 

25) Rahul is a very honest boy. (underline the subject) 

Ans – Rahul. 

26) A clever boy will act like this. (underline the predicate) 

Ans – will act like this. 



                                                SECTION C          

                                             LITERATURE  

Read the following extract and answer the questions that follow: 

27) ‘’ Its just a harmless garden snake !‘’ 

i) From where the above mentioned line is extracted? 

Points – Garden snake. 

ii) Write the name of the poet? 

Points – Muriel L.Sonne. 

Iii)In this above mentioned line who is speaking to whom? 

Points – the child’s mother is speaking to the child. 

28)’’He wore a question mark for tail.’’ 

i) From where the above mentioned line is extracted? 

Points – the squirrel  

ii)Write the name of the poet? 

Points -  Mildred Bowers Armstrong. 

iii)Here the speaker is talking about whom? 

Points – talking about the squirrel. 

29)’’ I accept the challenge your majesty.’’ 

i)Mention the source of this extract?  

Points – Gopal and the Hilsa Fish. 

ii)Who is the speaker of this above mentioned line? 

Points – Gopal. 

iii) Who has given this challenge to the speaker? 

Points – The speaker. 

Answer the following questions in 30 – 40 words. 

30)Who were talking about the hilsa fish in the story ‘’Gopal and the Hilsa Fish’’?1 

Points – Householders and the courtiers. 

31) Why do the grown ups tell the children not to talk with their mouth full? 

Points – it is a bad manner. 

32)Give some examples of fuel? 

Points – wood,coal,cooking gas and petrol. 

33)What does it do when we go around? 

Points – It disappears behind the tree. 

34) What does the child’s mother say to him? 

Points – some snakes are not dangerous. 

35)What is compared with grey overcoat? 

Points – squirrel’s body. 

36)Who is the writer of thepoem ‘’chivvy’’?  

Points - Michel Rosen.   

Answer the following question in 80 words: 

37)What are some of the things you should do to prevent a fire at home? 

Points – should be alert about the use of inflammable substances at home – not storing combustible things like 



kerosene and petrol at home.  

38) Describe the squirrel and its playful behaviour with the help of the poem ‘’The Squirrel’’. 

Points – sat up straight to eat a nut – liked to tease – when it saw others then it went to the other way.   

Answer the following question in 100 – 120 words. 

39) why do you think grown-ups say the kind of things mentioned in the poem ‘’chivvy’’? 

Points -  just to teach us good manners – they are more experienced than us.  

Points – dressed up just like a mad man – no one could recognize him – achieved the goal.  

 

40)’’HA! HA! Well Gopal,congratulations!You have achieved the impossible once again!’’what was the impossible 

task?How did Gopal achieve that? 

Points – to bring a hilsa fish to the palace without anyone asking about it.  

 

 SATISH CHANDRA  MEMORIAL  SCHOOL 

MODEL PAPER ,CLASS :VII [2O19 – 2O2O ] 

SUBJECT : SCIENCE 

MULTIPLE CHOICE QUESTIONS :                                                                                            [1O X 1 = 1O] 

1.Which type of skin assists in cutaneous respiration? 

    a.scaly    b.rough   c.moist     d thick 

2.Rohan’s father works in wool’s industry .He gets an infection while separating  the fleece of sheep 

    into  different qualities.The disease could be  

     a.pneumonia  b sorter’s disease   c.influenza   d.sickle cell anaemia 

3.High speed winds are accompanied by  

    a.reduced temperature         b.increased temperature       

   c.reduced air pressure            d.increased air pressure 

4.Which of the following is not associated with the process of respiration ? 

   a.lungs   b.alveoli    c.gall bladder   d.trachea 

5.Storm accompanied by thunder and lightning is called 

   a.cyclone   b.anticyclone   c.thunderstorm   d.hailstorm 

6.Tracheae are present in a/an 

   a.frog  b.fish   c.earthworm   d.insect 

7.During which process diaphragm moves downward? 



    a.inhalation  b.exercise   c.respiration   d.exhalation 

8.What is produced by the fermentation of yeast because of which it is used in wine and beer  

    Industries? 

   a.oxygen   b.water   c.alcohol   d.carbondioxide 

9.Soil conservation is mainly with conserving  

   a.top soil   b.sub soil   c.microbes in soil  d.parent rock 

1O.Which of the following is a base? 

   a.sodium hydroxide         b.hydrochloric acid        c.sulphuric acid        d.calcium carbonate 

 

      VERY SHORT ANSWER TYPE  QUESTIONS  :                                                               [ 1O  X  2  = 2O ] 

11.How do the hair of certain animals help in keeping their bodies warm ? 

12.What conclusion do you make when you blow air in the space between the two balloons from your  

       mouth and the balloons come closer to each other ? 

13.What is the role of meteorologists ? 

14.[Assertion –reasoning ]      

     A.Both A and  R are true.R is the correct explanation of A. 

     B.Both A and R are true.R is not the correct explanation of A. 

     C.A is true , R is false. 

     D. A is false,R is true 

     E.Both A and R are false 

      1.A.Overgrazing of animals is a cause of soil conservation. 

         R.Soil can be preserved by crop rotation. 

       2.A.There is a difference between breathing and cellular respiration. 

           R.In breathing,no energy is released but in respiration ,energy is released. 

15.Why do cut apples take up a brown colouration when exposed in air? 

16.State the difference between equatorial and polar regions. 

17.Write the conditions necessary for conduction of heat . 



18.Phenolphthalein when added to a liquid ‘x’did not show any colour change .Mention two inferences  

      drawn from this activity. 

19.What should be done to get relief from a bee sting and why? 

2O.What happens to the diaphragm and the rib cage during exhalation? 

   SHORT ANSER TYPE QUESTIONS                                                                                      [1O X 3 = 3O] 

21.How do plants respire ?Explain. 

22.Pooja is suffering from indigestion due to acidity .Is it advisable to give her orange juice in this 

       situation and why ? 

23.Explain the following. 

       a.Lime water turns milky on passing carbondioxide gas into it. 

        b.Bubbles are produced when acetic acid is added to a solution of sodium hydrogen carbonate. 

24.What are the three conditions to form a thunderstorm? 

25.A student has to samples of soil :sample X and sample Y.He pours an equal amount of water in both. 

      In sample X ,the water is standing whereas in sample Y ,there is no water.What type of soil can X and  

      Y be ? 

26.WRITE  ONE  WORD  FOR   THE  FOLLOWING :     

    a.The mode of heat transfer in solid objects . 

     b.The amount of water vapour existing in air .Type equation here. 

     c.The process of breaking  the soil into smaller particles . 

27.Draw a well-labelled diagram of soil profile. 

28.How is breathing similar in a fish and a tadpole ? 

29.Justify the statement that composition of inhaled and exhaled air is not same. 

30.GIVE  REASON : 

     a.Mercury is commonly used in thermometers. 

     b.Cooking vessels are usually made up of metals while its handle is made up of plastic. 

LONG  ANSWER  TYPE   QUESTIONS : 

31.Explain the process of exchange of gases in insects.Draw a diagram in support of your answer. 



32.Differentiate between the following pairs : 

      a.Aerobic  and  anaerobic  respiration  

       b. Inhalation  and  exhalation 

33.a.The temperature of hot water is measured to be 80 ℃.How much will this  

           Temperature be in ℉ ? 

       b.Convert 85℉  into  ℃. 

34.Explain photosynthesis under the following headings : 

       a.Definition        b. Equation      c.Necessary  conditions    d.Products  formed 

35.Draw a neat diagram  of human  digestive  system and  name and label the following parts in it. 

                    a.where digestion begins                               b.where acid is produced 

                    c.largest  gland                                                 d.where bile is stored 

                    e.where digestion is completed 

36.STATE WHETHER THE FOLLOWING STATEMENTS ARE TRUE OR FALSE.CORRECT THE  

      FALSE STATEMENTS : 

    a.Diaphragm is a bone that helps in breathing . 

     b.Kelvin unit is used to measure temperature based upon an absolute rate. 

     c.Forming of a precipitate is a physical change. 

     d.Loamy soil is a mixture of gravel and rocks. 

     e.Anaerobic respiration takes place in the presence of oxygen. 

37.a.How does the soil become too acidic in nature ? 

      b.What should be added  in the soil when it is  

           i) too acidic     and   ii) too basic  ? 

38.a.What is a cyclone? 

      b.Describe the formation of a cyclone . 

39.100 ml of water takes 10 minutes to percolate completely in a particular soil.Calculate  



      The percolation rate of water  in this soil ? 

40.Describe anaerobic respiration in human beings 

MCQ  Answers (Answers) Science 

1. C   2.b    3.c     4.c     5.c      6.d     7.a  8.d   9.a     1O.a 

11.Hair traps a lot of air .air is a poor conductor of heat.so,it does not allow the body heat to   be lost into the 

atmosphere and  also helps in keeping them warm. 

12.High speed winds are accompanied by reduced air pressure 

        13.make the weather predictions 

         .study and compare the atmospheric conditions that occurred in the past and present and   apply this to 

predict the future weather. 

.use data from satellites and analyse the data to forecast about the weather. 

14.1.D                2.A 

15.The oxygen comes in contact with the cuit surface of the apple and form melanin,which has a brown 

colour. 

16.copy 

17.a.two bodies should be in contact or touch each other 

      b.the temperature of both the bodies should be different 

18.colourless in acidic medium  and neutral medium 

19.baking soda and vinegar should be used because these neutralises the acid 

2O.copy 

21.to obtain energy,plants also respire.The stomata also helps in the respiration process.The stomata consists 

of guard cells which allow the opening and closing of the stomatal pore to take in oxygen.Woody stems have 

small openings on their bark called lenticels for breathing.Roots of plants also breathe with root hairs by 

diffusion process. 

22.Orange juice is acidic in nature .so,it can not be given in case of acidity. 

23.a.due to the formation of calcium carbonate 

     b.carbondioxide gas is evolved .bubbles are due to evolution of carbondioxide . 

24.moisture,unstable air mass,lifting force. 



25.X-clayey , loamy                        Y-sandy soil 

26.a.conduction                b.humidity    c.weathering 

27.copy 

28.both breathe through gills 

29.Exhaled air has more carbondioxide and less oxygen as compared to inhaled air due to consumption of 

oxygen for oxidation of food and release of carbondioxide in the oxidation process. 

3O.COPY 

31.,32,34- COPY 

33.a.176°𝑭                                  𝒃.𝟐𝟗.𝟒°𝑪 

35.copy 

36.a.false,diaphragm is a large flat muscle at the floor of the chest cavity. 

      b.true 

      c.false,chemical change 

      d.gravel and rocks-sand ,silt,clay 

e.presence-absence 

37.a.excessive use of chemical fertilizers  

      b.i]quick lime or slaked lime 

         ii]manure or compost 

38.copy 

39.1O ml/min. 

4O.COPY 

 

 

 


